
 

 

 

           2-Digit ÷ 1-Digit Number: Part 2 
1.  Complete: 

      a)   60 ÷ 2 = _______   because  ______ × ______ = ______   

    b)   80 ÷ 4 = _______   because  ______ × ______ = ______       

      c)   90 ÷ 3 = _______   because  ______ × ______ = ______       

2.  Calculate 69 ÷ 3:      

Think:   69 = _______________     

 

 

 

     

  

 

 

3.  Calculate 72 ÷ 3:      

Option 1:  72 = _______________     

Option 2:  72 = _______________     
 

 

 

 

     

  

 

 

69 ÷ 3 

 

 

Using a division bracket:  

72 ÷ 3 

 

 

Using a division bracket:  



 

 

 

 4.  Complete:     a)   96 ÷ 4            b)   84 ÷ 3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

Using a division bracket:  Using a division bracket:  


